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@) ) . o ) (3)
4, Enamro::oﬁmo:ma?aoowEo»,o:oigm” - 2x3 5.
(a) Functions of platelets
(b) Peristalsis -

(c) OEo:ao shift or mﬂsvﬁmﬂ. phenomenon.

Write short notes on the following : 3x6
(a) Vitamin-D

(b) Hyperthyroidism

(c) Oo:»mn:

(d) Zoa.ommn__:w_ Amino >oa

5. Differentiate between the mozoi_nm : "
(a) Simple and facilitated diffusion % \mu ‘ | ‘ , () Diabetesmellitus
{b)—Thick and thiri skeletal muscle filaments t M () Genetic code.

(c) Excitatory pos synaptic potential (EPSP) and
inhibitory post synaptic potential (IPSP) £/ - S
(d) Photopicandscotopicvision S (O -

Part-B
. (Biochemistry) [Marks :35
I 1. Explain the basis of increase of urea and creatinins in
blood inrenal insufficiency. 4
2. Explain the basis of intemal bleeding arising due to
deficiency of Vitamin-K. | 4

the liver function test. : 4

4.  What is end product inhibition ? Explamn_the

ooanﬂEﬁ._ uncompetitive and non-competitive
inhibition. 5
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